
CHAPTER:-4MULTIPLICATION CLASS5

ASSIGNMENT 9

1)Multiply:-

a)2457×431

2 4 5 7

× 4 3 1

-------------------------

2 4 5 7

7 3 7 1 0

9 8 2 8 0 0

---------------------------------

10 5 8 9 6 7

----------------------------------

b)18964×983

c)5308x317



d)82064×5326

e)24009×1463

2)Achaircosts₹650andatablecosts₹2715.

Whatwillbethecostof15chairsand25

tables?

Costof1chair =₹650

So,costof15chairs=650x15

=₹9750

650

× 15

---------------------

3250

6500

-----------------------

9750



------------------------

Costof1table =₹2715

So,costof25tables=2715x25

=₹67875

2715

× 25

-----------------

13575

54300

------------------

67875

-------------------

Therefore,thecostof15chairsand25tables

=₹77625

9750

+67875



---------------------

77625

3)Thecostofaschoolbagis₹785.Whatis

thecostof350suchbags?

4)Afactoryproduces12750bottlesofmineral

waterinaday.Howmanybottleswillbe

producedinayear?(1year=365days)


